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(B)
Y X3 (A) 23,332,034 21,779,815 1,552,219
A 1,319,059 1,319,059 0
Rt AtgETY 1,070,059 1,070,059 0
7|Etg == 249,000 249,000 0
A 9,937,674 9,728,314 209,360
el O|Rt=< 85,000 85,000 0
Efg|A™ eI+ 9,852,674 9,643,314 209,360
A 6,377,600 5,034,741 1,342,859
tEAdAF+L Elg|AHEE TS+ 6,077,600 4,734,741 1,342,859
SAEEETY 300,000 300,000 0
A 5,697,701 5,697,701 0
FEXE
=AY = 5,697,701 5,697,701 0
X & Xt & (B) 23,332,034 21,779,815 1,552,219
A 11,166,733 10,957,373 209,360
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A 90,000 90,000 0
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A 100,000 100,000 0
ofjH|H]
Of|HH] 100,000 100,000 0
X} o (A-B) 0 0 0
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